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SM: HPD
g NgH & AA=g 2el
SR XA 20 (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 21,840 21,840 0
OBt~ 21,840
02 2324l 64,700 64,700 0
OXNEHNIANN LEE RERS
1,900& %33, 0000H 62,700
ODXNMN &8 ZEHI 2 ESEI = 2,000
NEA 2 AMA+ H 57,870 72,120 A 14,250
A = 29,310 29,310 0
201 Let24d] 25,310 25,310 0
01 At 22/l 5,640 5,640 0
OXNgHN=eE ==& & 52,0003 *702F A 3,640
O EIE =g ==& 100& 20,0004 2,000
02 =24l 19,670 19,670 0
o0z22= % HA 13,200
OXtét2Ze| A S8 X3
400,000& x10A 4,000
Ofst dR(HHM) EUHEE =5 X2
1,000& 5004 500
OMEX XM=Y F MUl 5,500
O AHX =2 80& +37,500A 3,000
OZHEENS UHHAANER 200
O A& & HlS X bl 6,470
OJ&AX ALY R E
291,660 128 3,500
ONEXe BaTHAINANLYE KX 24l
330,000& 9 2,970
202 O4dl 4,000 4,000 0
01 = LH 4 Hi 4,000 4,000 0
OMENE=ES OHl 4,000
A ZAF 5,500 5,500 0
303 L& 3 5,500 5,500 0
01 243 5,500 5,500 0
OMENMEs 2tz 5,500
Nel=g 22l 23,060 37,310 A 14,250
201 Let2d] 1,560 1,560 0
01 At 2t 2l 1,560 1,560 0
ON2+=g XM & 52,0003 *302F A 1,560
308 MtXIEHSOIH 21,500 24,750 A 3,250
103 2SoteBa XA 21,500 24,750 A 3,250
oMoz X 22l 21,500
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g NgH & AA=g 2el
SR NE=EILA A E SA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
IHEFEIA ZAF & ZAl 131,845 130, 102 1,743
HE=e40tA A 48,865 47,122 1,743
101 @124l 45,625 43,882 1,743
03 RIHAZZ N2+ 45,625 0 45,625
OMNEFEIIIA T A 2 45,625
OJdles 51,7603 x3H 200! 31,056
ORrRssgs% 51,7603 *3H 362 5,591
(ORSPNEI=E= 51,760%3% x9 1,398
O=8dg= 38,043,600& *4.0% 1,522
OMNsEd= 38,043,600& *1.9% 723
OAHLHFIRRIEEZ 38,043,600& x3.0% 1,142
O &&z3 1,397,520& »3H 4,193
201 Let24E] 2,240 2,240 0
01 At 22l 2,240 2,240 0
OMNEFEINAXTA EES &= HH
70,000 x 160 2 +23] 2,240
202 o4dl 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
OMNE =EIIA T AL 1,000
HEFEIA ZE 82,980 82,980 0
201 et 82,980 82,980 0
01 At 22l 69,030 69,030 0
OMNEFEIIA S8 6,600& *9,500& 62,700
OMNEFEIA AFEEZM I
55,0003 10 A 550
OSSHEIIAAS HAaY
70,000& x10& *52] 3,500
OMEFe BETH N8 B2EYT 2Y
190,000 6Z ct+2AMI E 2,280
02 =224l 13,950 13,950 0
OFR ASE HAAH XN 25 2HLI
2703 x44,333AH 11,970
OAIE ZHI S X 1,980
Og=% dacze 228 SNE=s
gl 165,000& »12& 1,980
At 2 3| A 22 2,477,476 6,124,789 A 3,647,313
&k 2tel 1,013,240 1,733,240 A 720,000
SR MeE 22 1,013,240 1,733,240 A 720,000
201 ¢er24| 385,240 425,240 A 40,000
01 At 22l 25,240 25,240 0
O et==EH| 23,000
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
CEEEY] 2,240
OBRWAE 918 ML
70,000& *8H x4 3] 2,240
02 332494l 360,000 400,000 A 40,000
OMBBHE BHIE(Molls7, 234, =0l
A HNESEHIAS) 360,000
202 04| 3,000 3,000 0
01 2LHOHI 3,000 3,000 0
O33R Mat AEHEAF 48] 3,000
301 Bt A= 5,000 5,000 0
11 IIEtE &2 5,000 5,000 0
OSBANAEZE WX M DEAZ 5,000
401 Al HI L 2 0HHI 620,000 1,300,000 A 680,000
01 A& HI 620,000 1,300,000 A 680,000
OMoHE =S MA HbI 20,000
OEX S (B2 - B2 &#8) 600,000
O23HAI HE BSHA 21X 600,000
= Ar2tel 787,359 740,033 47,326
HAIR XA 22l 740,285 697,911 42,374
101 @121l 133,235 109,761 23,474
04 JI2ZtH22XNHEE =+ 133,235 109,761 23,474
OFA & Al 223 133,235
ool 51,7603 *250! x5H 64,700
O%zs%g ¥ sit4 51,760& *65 x5 16,822
OAZIA2Z RS 9,705& x42 Al 2t x 128l x5H 24,457
Ol &< 3,200,000& x5H 16,000
O=01Hz 105,978,600& *4 . 5% 4,770
O=0AHLLE 105,978,600& *3.6% 3,816
O&IAEE 3,815,230& *3.28% 126
onsss 105,978,600& *1.5% 1,590
OMTHEE 105,978,600& *0.9% 954
201 LEt2 Y| 333,050 332,550 500
01 At 22l Yl 42,050 42,050 0
O Yet+2H| 42,050
Ot ZH| 17,050
OHASE(EEZEE) Y 18,000
ORFID E322AA8 SZ(EH0)2 L
7,000,000& 7,000
02 352l 291,000 290,500 500
o232 ¢ MA 225,500
(OFrsPIETE=: 180,000
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2N
X ZH -
L= B

el

SN HH-S(BN) - MBAY - B il HlnE2
O et H| 6,000
2l 563,450 587,710 A 24,260
2 2t 563,450 587,710 AN 24,260
2Bt | 342,170 377,430 A 35,260
At 22|l 18,800 18,800 0
oOzEXE Y 6,000
OSESS(SEXN) 2V 2,000
O3EXE NEE2 SHE 500,000& x12& 6,000
OZ2EXE M xtdl 400,000& 123 4,800
02 3323l 321,370 356,630 A 35,260
OXNsSxHEE = 92,390
ougs=s 1,000, 000& *3CH 3,000
Os&8s=2 950,000 »2CH 1,900
(OF-=-F=3=1 800,000& +7CH 5,600
OZEss 700,000& *9CH 6,300
ot=ds=s 950,000& +9CH 8,550
ougs# 2,500,000 = 1CH 2,500
Os8s¥ 1,000,000 *2CH 2,000
(OF=-F=3-} 980,000& +8CH 7,840
Otests 1,200,000% =1 CH 1,200
OsJI(€xZ) 3,500,000 = 1CH 3,500
Os&83st2 1,800, 0002 *5CH 9,000
(OFE=-3cI3— 400,000& *390H 15,600
OJIEtE = 1,500, 000& »9CH 13,500
(OFSWIPNE=PN; 700,000& »2CH 1,400
OFAX 1,500, 000& »7CH 10,500
O Xt XHAl 18,480
OF3= 320,000& »30CH 9,600
Oos# 120,000% *11CH 1,320
Ost2 120,000& »53CH 6,360
OosJI(dxm) 120,0002 = 1CH 120
OJIEtE= 120, 0002 *9CH 1,080
OZEXE =&l 98,100
ougss 3,200,000 =3CH 9,600
Oz&8s=2 2,500,000 »2CH 5,000
OZEsE 2,000,000 =9CH 18,000
otu=8s8 2,000,000& »5CH 10,000
ougse 3,000,000 = 1CH 3,000
Os8se 3,200,000 »2CH 6,400
OL2ESE 3,000,000 *2CH 6,000
OsJI(ExZ) 3,000,000 = 1CH 3,000




CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
Os&83st2 3,200,000 »2CH 6,400
(OF =3I 2,000,000& =12CH 24,000
OJIEtE= 2,000,000 »3CH 6,000
(OFSWIPNE=PN; 700,000& «1CH 700
OZEXE FFU 9,000,000& x12& 108,000
OdMERE =S 2,200,000& *23| 4,400
SHAHZ2 S HI 2,000 2,000 0
O=2dA Z2RJ JIE st0t3UHE 2,000
04 i 8,280 8,280 0
LH 04 H 8,280 8,280 0
2HYLLY XA ()
230,000 x3H 128 8,280
& S| 213,000 202,000 11,000
MU EZFHSHI 213,000 202,000 11,000
I2XY 1Y 210,000
Os8sls WML 1H(S#F 1)
60,000,000 = 1CH 60,000
OJIEtS+=8XeE WM T 10 (aH =40
150,000,000 =1 CH 150,000
gagta g 3,000
OsgExE sd9A &1 300,000& =104 3,000
AHME 22 77,600 82,880 A5,280
Sgst slAH™el 60,000 66,000 26,000
B2 F | 58,000 64,000 26,000
At 2t el | 36,000 42,000 26,000
O el 18,000
o2g+y
ZAZ AR RS =Y 150,000 »4H +302 18,000
02 =24l 22,000 22,000 0
OEXYE OIBE++2 20,000 503! «12& 12,000
O&3INAL =8 Xz 500,000& 203/ 10,000
QR =T 2,000 2,000 0
ME=ANHLFEHI 2,000 2,000 0
©2017¢ 2 H2ZE RF=LH|
20,0002 x10E x 102 2,000
17,600 16,880 720
B2 Al 17,600 16,880 720
f2eldl 3,500 3,500 0
=g+ 3,500
OHAdYAAS = 70,0003 x10¥ «53| 3,500
02 =224l 14,100 13,380 720




SM: HPD
M WA Y A2
ol A IAHNE 29 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAIE ZHI S X 14,100
O3A2e 2208 RAE =l
625,000& 128 7,500
OFAIMEZOY KRAE=H 3,000
OAAEESMHAIAE KX E4I
300,000& 122 3,600
SA2I] 3 A 35,827 34,926 901
SA2I| 3 H2el 17,827 19,926 A 2,099
101 @124l 14,827 13,926 901
04 JI12ZtHZ22HEE = 14,827 13,926 901
o=ARI 29 14.827
oesy 51,7602 210 1 10,870
OgEX=E 51,7603 x50 «1H 2,588
O=8d¢d3 13,458,000& *4.5% 606
(OFaRzg-g= 13,458,000& *3.06% 412
OFIIRAEH 412,000 *6.55% 27
(ONE=J--0= 13,458,000 *1.3% 175
OdTHEH 13,458,000& *1. 1% 149
201 Let24E] 3,000 6,000 A 3,000
01 At 2t 2l 3,000 6,000 A 3,000
OSARI FRXE UM 30,000& 100= 3,000
SEMREDA &Y 18,000 15,000 3,000
201 Let2d] 18,000 15,000 3,000
01 At 22l 18,000 15,000 3,000
O=sAR) SEMRHME &4 30,0003 *100F 3,000
OSARISA MHEME UH2EF =2 15,000
A Jrel 165,764 126,279 39,485
EXze] 165,764 126,279 39,485
HERESAEHE 25,000 6,000 19,000
201 £B-2dH| 25,000 5,000 20,000
01 At 22l 25,000 5,000 20,000
OMLELS HLHS 258 242
1,000,000& 252 25,000
HE SAIXIILZE AL 138,964 120,279 18,685
101 @124l 59,612 40,927 18,685
03 RIHAZ 22+ 59,612 0 59,612
OQMESAIXIIOt ZALR Q124 H| 59,612
Oy 51,7603 »4H x240 49,690
O&E&H=z 49,690,000 *10% 4,969
O=0d= 49,690,000 x4.5% 2,237




2EM: WP
M Xot2el

©e: EXl2e (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O=ALLEZ 49,690,000 *3.06% 1,521
OIILEBEZ 1,521,000& *3.3% 51
OonseEsga 49,690,000 *1.5% 746
OMMEE = 49,690,000& *0.8% 398
201 LEr2 Y| 77,552 77,552 0
01 At 22l Yl 74,590 74,590 0
O Yet+Z2H| 71,090
OMESAIXIIb &8 60,000 *43|*16IH A 3,840
OXNIGLRE SAEXN 7
25,0003 x508F A 1,250
OXIIgRs ZelHHEH ¢
300,000& 63| 1,800
O&HEg 2etd3a 2 180,000& *15M E 2,700
O&HE"EXN #¢ 50,000& *x302 1,500
OMESAXIN AE 2O
1,500,000& x4 3] 6,000
OMESANNI S22 54,000
o2g=s¢ 3,500
OFSAMEIIAAS = 70,0003 1098 *53] 3,500
02 352494l 2,962 2,962 0
(©)s=3] 462
OXIIHYH HYRE P
1,100 *7 Al 2 x60 462
O A& &Hl S XY 2,500
OXNIE AEH =l 300, 000& *=2CH 600
OXJArE Zely =2l 300,000 =2CH 600
OE2ZH KANEx 1,300,000& = 1CH 1,300
202 4] 1,800 1,800 0
01 2 LHHI 1,800 1,800 0
OEXNEHZTAN g2 20,000 *3H *30! 1,800
SESASOS A2 1,800 0 1,800
201 LEt2HY| 1,800 0 1,800
01 AFR22t2l bl 1,800 0 1,800
ogst2H| 1,800
O e 2& 42 60,0003 *13 *20H £ 1,200
O SIA QEME 20,000& *30H4 600
HE 2 FY| 109,065 107,724 1,341
Jle2dal (HRDH) 109,065 107,724 1,341
HYF=XZ Y| 4,200 4,200 0
203 ¥R =&Y 4,200 4,200 0
04 ENSI IR =Y 4,200 4,200 0




<

n0

Kio

Hl w

1,341

1,341
1,341

1,000

1,000

1,000

1,000
1,000

H3r
Wikd
RIS

14,484

14,484
14,484

89,040
89,040
89,040

100,000

100,000

100,000

100,000
100,000

Off &t 24

4,200

15,825

15,825

15,825
10,180

5,645
89,040
89,040
89,040
67,200
21,840

101,000

101,000

101,000

101,000
101,000
100,000

1,000

U Sl

2N

128

2%

=)

350,000

&0
]3]
J
oll

30
0K
1J
oll

01 AtR 2t 2l |

60
<+
il

380
OH
x

01 =LHOI I

202 Oddl

=LH O HI

Hx128

=

2%28

200,000

0
<+
o+
oD
i

1 x28 128

=

o

65,000

O=U=Z0Hl

S(H2)

el
ok

ulo

I
)

fo
KA
iy
i
nr

Ulo
ro

)l

o1

03 2t

ulo

no
JD

—

=]
oD

K4
H

A
i

ro
Mo
)
IF
ol
o
0
I+

ol




